Solvesborgs BK
Ruterspelet Hcp 2021-11-09

Partavling, 7 bord, 14 par. Antal brickor: 18. Medel: 108.0.

Plac  Par Poéng % Namn MID Klubb
1 6 130.0 60.18  Kristine Gustafsson - Ulla Bremberg 47026 88716  Solvesborgs BK
2 8 128.1 59.32  Hans-Ake Rosengren - Roland Nilsson 44382 65347  Solvesborgs BK
3 4 118.1 54.68  Christer Mjémark - Birgitta Mjomark 62536 62535  Solvesborgs BK
4 14 115.3 53.37  Barbro Ahlner - Ingvar Cullin 43350 42600  Solvesborgs BK
5 12 114.6 53.06  Britt-Marie Svensson - Bertil Svensson 30859 30858  Solvesborgs BK
6 7 107.7 49.85  Gunilla Axelsson - Lars Axelsson 54675 54674  Solvesborgs BK
7 10 106.2 49.19  Elsa Persson - Ingrid Rosengren 48014 48019  Solvesborgs BK
8 1 103.8 48.04  Ingrid Vestergaard - Gunvor Gabrielsson 30862 30865  Solvesborgs BK
9 13 102.7 47.55  Eva Svensson - Stig Svensson 56562 56561  Solvesborgs BK
10 3 102.4 47.39  Ann-Marie Janbom - Monica Gertell 57790 59584  Solvesborgs BK
11 11 101.1 46.80 Inger Andersson - Marianne Svensson 54677 53314  Solvesborgs BK
12 5 98.2 45.48  Agneta Lindstein Andersson - Jan Andersson 46502 46503  Sdlvesborgs BK
13 9 92.4 42.78  Kurt Petersson - Laila Breitenfellner 45076 31879  Solvesborgs BK
14 2 914 42.31  Kerstin Skog Blom - Dan Berger 43351 64939  Solvesborgs BK
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5 12 24 V= v5 90 120 00| 8 7 54DO-5 #3 1100 120 00(14 1 64 O-1 46 100 12.0 0.0
14 9 2NO= v6 -120 100 20|14 9 14 S+2 3 140 100 20| 4 7 564 O+1 2 -620 8.0 40
10 1 2NV+1 &2 -150 80 40| 3 6 24N= v7 110 80 40|11 3 5¢ O+1 45 -620 8.0 40
8 7 34V+2 6 -200 6.0 6.0| 2 11 2NO-1 &7 50 50 70|13 5 5¢ O+1 &K -620 80 4.0
3 6 4eV= v5 -420 30 90| 512 2¢ O-1 v4 50 50 7.0 9 8 3NO+1 &6 -630 40 80
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4 7 44 O-1 &2 100 9.0 30|11 4 54DN= &A 750 120 00|12 7 5#V-1 ¢ A 100 11.0 10
6 12 44 O-1 &2 100 90 3.0|10 3 440-1 #4 50 100 20|14 2 4v O-1 5 100 11.0 1.0
10 2 44 O-1 &2 100 90 30| 1 9 440-= *4 -420 40 80| 1 9 2v0+1 7 -140 8.0 40
13 5 44 0O-1 &2 100 90 30| 5 8 440= 3 -420 40 8011 4 2NO+1 T -150 6.0 6.0
9 8 140+ v4 -200 40 80|12 7 44 0O= *4 -420 40 80| 5 8 3NO= +5 -600 2.0 10.0
11 3 44 0= v8 -620 10 11.0|13 6 44 O= *4 -420 40 80|10 3 3NO= *7 -600 2.0 10.0
14 1 44 0= vA -620 10 11.0|14 2 44 0= *4 -420 40 80|13 6 3NO= *7 -600 2.0 10.0
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#K632 #Kn75 V54545 210 *E842 V45854 #ED106 #Kn9852 V 10113 8 5
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+ KD75 ¢ D9752 2
LT #DKn93 *43
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
6 9 INV-2 v2 200 120 00| 7 13 3NN= vT 400 120 00| 7 1 4¢vyN= a4 420 100 2.0
14 3 2NS+1 %3 150 100 20| 6 9 INN+2 &2 150 90 30|11 6 4v N= 8 420 100 20
2 1 2¢ S+2 &A 130 80 40(10 4 INN+2 &2 150 9.0 30|13 8 4v N= a4 420 100 20
10 4 INV-1 LY 100 50 7.0|11 5 2vDV-1 +38 100 60 60| 3 2 3vN= a4 140 6.0 6.0
11 5 INV-1 v2 100 50 7.0|12 8 3v V-1 a A 50 40 80(10 5 4y N-1 &4 -50 3.0 90
7 13 2¢ S= oA 90 20 100| 2 1 2vV+1l &A -140 1.0 11.0|12 9 4y N-1 44 -50 3.0 90
12 8 3a N-1 &5 -100 0.0 120(14 3 3v V= o A -140 1.0 11.0| 4 14 4y N-2 &4 -100 0.0 12.0
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12 9 4v S+2 T 680 120 00| 6 10 2NN= 46 120 100 20|12 1 3NO-3 vA 150 12.0 0.0
3 2 4y S+1 48 650 70 50| 8 2 2NN= v5 120 100 20| 8 2 1v S= +Q 80 10.0 2.0
4 14 4v S+1  +A 650 70 50| 9 13 2NN= s A 120 100 20|14 5 3aV-1 vA 50 8.0 4.0
7 1 4vyS+1  ¢2 650 70 50| 4 3 3a4S= a4 110 6.0 60| 4 3 240+1 ©vA -140 50 7.0
13 8 4v S+1 &7 650 70 50|12 1 3NN-1 46 -50 30 90| 6 10 24 O+1 ¥vA -140 50 7.0
10 5 4v S= ¢A 620 20 100|14 5 2¢ N-1 s A -50 30 9011 7 3vS-2 .7 -200 2.0 10.0
11 6 3v S+1 &T 170 0.0 120(11 7 3NN-3 v7 -150 0.0 120( 9 13 3v S-3 &T -300 0.0 12.0
13 & DKn Bésta kontrakt 14 46 Bésta kontrakt 15 « ED3 Bésta kontrakt
Nord v EDKn6 44 N =130 Ost vE1096 3¢ SD-1-100 Syd v D54 2NT S =120
Alla + KKn84 Ingen + KDKn1093 NS + 1086
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Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
8 11 3NS+1 &7 630 120 00| 8 11 44 O-4 7 200 120 00| 7 14 3NS= v2 600 120 0.0
10 7 3NS= a7 600 100 20| 9 3 3¢ N= &4 110 100 20| 6 5 INS+2 2 150 9.0 3.0
9 3 1vy N= »3 80 80 40| 6 14 44 O-2 +8 100 70 50|11 9 240-3 *T 150 9.0 3.0
1 13 54S-1 aA -100 40 8012 2 44 O-2 +8 100 70 50| 1 4 2NS= v2 120 40 8.0
5 4 54S-1 a3 -100 40 80| 1 13 340+= *7 -140 20 10.0| 8 10 INN+1 2 120 40 8.0
6 14 54 S-1 s A -100 40 80| 5 4 340= ¢7 -140 20 10.0|13 2 INS+1 7 120 40 8.0
12 2 3¢ N-2 a5 -200 0.0 120(10 7 34 0= +8 -140 20 100| 3 12 INS= v7 90 0.0 12.0
16 « D87 Basta kontrakt 17 #9543 Basta kontrakt 18 « KDKn74 Basta kontrakt
Vast v EK1096 6¢ V =-1370 Nord v K9763 64 O D -1100 Ost v- 4v O =-420
oV ¢+ Kn Ingen + K976 NS 410743
#8643 & ¢ v & NT »- & ¢ v & NT #Knl074 & ¢ v & NT
& Kn # EK52 N21652 «ED76 #4Knl02 N 2 10105 2 4 E6 53 N3 43765
v 8432 v7 S21652 v104 v2 S 2 10115 2 v 1075432 vE86 S34375
¢+ E10753 ¢ D942 O 10127 8 8 ¢D104 ¢5 O 113 2 8 6 +E9 ¢ KKn85 O 109 106 8
#EKnS5 #K972 V 10127 8 8 #EK42 #DKn1098763v 113 2 8 6 #D63 #EK82 V 109 106 8
4109643 4 K8 410982
v DKn5 v EDKn85 v KDKn9
+ K86 + EKn832 + D62
«D10 *5 295
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
11 9 2vy N= s A 110 120 00| 9 10 5v S= A 450 120 00| 1 11 4v O-1 +8 50 9.0 3.0
13 2 INV-1 vA 100 100 20|12 4 54DO-1 ¢2 100 100 20| 2 5 4v V-1 &K 50 9.0 3.0
6 5 3vyN-2 aA -100 70 50| 1 11 540+= vA -400 6.0 60|13 3 4v0O-1 &9 50 9.0 3.0
7 14 3v N-2 s A -100 70 50|13 3 540= &K -400 6.0 60|14 8 4v0O-1 2 50 9.0 3.0
1 4 3¢V-= vA -110 40 80(14 8 3NV= v3 -400 6.0 60| 9 10 3vO= »5 -140 40 8.0
3 12 4¢ V= v6 -130 10 11.0| 7 6 540+1 ©vA -420 20 10.0|12 4 3v O+1 48 -170 2.0 10.0
8 10 4¢ V= vA -130 10 11.0| 2 5 54DO= +¢A -550 00 120 7 6 4vO= *9 -420 0.0 12.0
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